Situation-Problem-Response- Evaluation
When we talked about how to write definitions, we saw a lot of texts organised in a general-specific way. They started with a general statement, which was later explained with examples.
Another way of organising your text is SPRE: Situation-Problem-Response-Solution. Such texts can be very short. At the same time, whole research papers, and especially university written assignments can be organised like this.
Your text consists of 4 parts.
1. You describe the situation - in other words, the background. This gives the reader enough information to understand the context of what you will say later.
2. You describe a specific problem.
3. You describe the response to the problem - one or more solutions for dealing with it.
4. You evaluate these solutions: did (will) they work? Is/are they effective? Which is the best one?
 

Below is an example of a short SPRE text. It contains advice to business owners about how to #hashtag their messages on Twitter.
Before you read the text, read my comment. It is also written as SPRE.
Comment: In December there are a lot of holidays. For example, Christmas and Hanukkah are always in December.  Some Chinese and Persian holidays can also happen around this time. (SITUATION)  --> So, what is the problem?
Sometimes it's hard to know if the person you are speaking to is religious and what holidays they celebrate. (PROBLEM)
--> So what is the solution?
 This is why some people prefer to say "Season's greetings!" instead. (RESPONSE) --> Is it a good solution?
 On the one hand, this can be seen as positive political correctness. On the other hand, some people feel that this makes Christmas less important. (EVALUATION) 
Now read the text. Notice how key words show you the structure of the text.
It is important to know what sort of #hashtags your target customer will appreciate. (Situation)  Around the winter holiday season, there’s some tension around holiday recognition.(Specific problem)  One solution for this problem is avoiding specific holidays (i.e. using #happyholidays instead of #merrychristmas). Maybe even use #festivus. (Solution 1) This way, no one gets excluded from your posts(Evaluation 1). Another solution is to hashtag ALL the holidays. I wouldn’t recommend this route, because a) it’s overwhelming and annoying for your followers, and b) you will exhaust yourself and probably go insane trying to keep up with every holiday. (Evaluation 2)
http://breakingeveninc.com/seasons-of-hashtag/
Here is an example from a more scientific source. "SPR" are here, "E" will come after the description of the research.
Many restaurant chains have turned to descriptive menu labels-such as Jack Daniel’s Chicken, Psychedelic  Sorbet, or the Blooming Onion-in an effort to influence customers’ choices and attitudes. The use of descriptive menu labels is common in the hospitality industry,(SITUATION) but we wondered whether simply changing the menu labels from generic, straightforward names to descriptive names actually influences sales, or, for that matter, makes a customer actually believe the food tastes better. (PROBLEM)  <…>
To learn more about the effect of descriptive labels, we conducted a six-week-long field study of six items on a cafeteria’s menu to answer these three questions: Do descriptive labels increase sales?,  Do descriptive labels make customers believe the food tastes better?, and Do descriptive labels influence customers’ attitudes toward a restaurant <…> (RESPONSE).
"Descriptive Menu Labels' Effect on Sales" by Wansink et al

Your readers are used to reading texts structured like this, and will expect similar writing from you.
 

Task 1: Divide the text into 4 paragraphs (S; P; R; E)

Question 1 (10 points)
Here is a text from the Union of Concerned Scientists site about environmental problems.
Now it is all one paragraph. Please make it 2 paragraphs:
1. Situation + Problem
2. Response + Evaluation
Put a /// sign between Situation and Problem and between Response and Evaluation. 
Americans' per capita emissions of heat-trapping gases is 21 tons—four times the global average and twice that of other countries with a similar standard of living to our own, such as France and Japan. That means we can all make choices that will greatly reduce our global warming impact. First, let's look at the car you drive: the most important personal climate decision. When you buy your next car, look for the one with the best fuel economy in its class. Each gallon of gas you use is responsible for 25 pounds of bad gases in the atmosphere. Better gas mileage not only reduces global warming, but will also save you thousands of dollars  over the life of the vehicle. Upgrading from a 20 mpg car to a 40 mpg car can save you 4,500 gallons of gasoline over the car’s life span. At today’s gas prices, that’s a total savings of more than $18,000. 
http://www.ucsusa.org/global_warming/what_you_can_do/ten-personal-solutions-to.html#.VfV3kNLtmko (adapted)
Task 2. Match topics to SPRE.

Question 1 (2 points)
Here are some headings (заголовки) from a report on how Cardiff and Vale University Health Board  deals with work-related stress.

Match the headings to the parts of the report - which topics are about the Situation, which are about the Problem, which are about Response and which are about Evaluation? 

Adapted from http://www.hse.gov.uk/STRESS/casestudies/cardiff-vale-university-health.htm

	Column A

	1.
	Situation (background):[image: image1.wmf]


	Situation (background)
	

	2.
	Problem:[image: image2.wmf]


	Problem
	

	3.
	Response (what action was taken):[image: image3.wmf]


	Response (what action was taken)
	

	4.
	Evaluation (Did it work? How do we know?):[image: image4.wmf]


	Evaluation (Did it work? How do we know?)
	


Column B

a.The impact of our actions on our organisation.

b.Who are we?

c.Work-related stress and why we became interested in this.

d.What we did and how we did it.

Question 2 (2 points)
This task is based on a case study about Aldi, a well-known cheap supermarket. 
This case study is about "Creating values through the marketing mix" at Aldi. Read the headings and match them to SPRE. 
http://businesscasestudies.co.uk/aldi/#axzz3lciq73sF
	Column A

	1.
	The Marketing Mix.:[image: image5.wmf]


	The Marketing Mix.
	

	2.
	Balancing the Marketing Mix.:[image: image6.wmf]


	Balancing the Marketing Mix.
	

	3.
	Above-the-line promotions:[image: image7.wmf]


	Above-the-line promotions
	

	4.
	Below-the-line promotions.:[image: image8.wmf]


	Below-the-line promotions.
	

	5.
	Conclusion:[image: image9.wmf]


	Conclusion
	


	Column B

	a.Problem

	b.Solution

	c.Response

	d.Situation


Question 3 (2 points)
This task is based on a case study about Aldi, a well-known cheap supermarket. 
This case study is about "Creating values through the marketing mix" at Aldi. Read the headings and match them to SPRE. 
 

http://businesscasestudies.co.uk/aldi/#axzz3lciq73sF
	Column A

	1.
	The Marketing Mix.:[image: image10.wmf]


	The Marketing Mix.
	

	2.
	Balancing the Marketing Mix.:[image: image11.wmf]


	Balancing the Marketing Mix.
	

	3.
	Above-the-line promotions:[image: image12.wmf]


	Above-the-line promotions
	

	4.
	Below-the-line promotions.:[image: image13.wmf]


	Below-the-line promotions.
	

	5.
	Conclusion:[image: image14.wmf]


	Conclusion
	


	Column B

	a.Solution

	b.Response

	c.Situation

	d.Problem


Task 3. Match the problems to their solutions

Question 1 (3 points)
This task is based on the Time magazine article "7 odd solutions for 7 common economic problems".
Match the problems to the suggested solutions. 
http://business.time.com/2011/07/08/odd-solutions-for-7-all-too-common-economic-problems/  (Adapted)
 

odd = strange;  commuters = people who travel to and from work 
	Column A


	1.

	[image: image15.wmf]


	Not enough commuters using public transportation

	
	2.

	[image: image16.wmf]


	Unemployment benefits give some incentive to stay unemployed

	
	3.

	[image: image17.wmf]


	Prisons are expensive to run, and ineffective at deterring crime

	

	


	Column B

	a.Create “frequent commuter” programs that reward loyal passengers like to airline reward programs. A Stanford computer scientist tells The Atlantic that such a program, which is being tested in Bangalore and Singapore, would stimulate commuters to use public transportation.

	b.Give less-serious criminals the option of being beaten instead of going to prison. A John Jay College of Criminal Justice professor suggests that if beating returned, the U.S. prison population would drop from 2.3 million to 300,000, saving billions, and that the punishment would not be cruel or unusual—because the criminal would still have the choice of going to prison instead of getting beaten.

	c.Give bonuses to unemployed people who find work fast, suggests Todd G. Buchholz, an economic adviser to President George H.W. Bush, in Washington Post. The theory is that workers would want to say yes to jobs—even lower-paying jobs they’re not too crazy about—if a bonus is promised, and that the government would ultimately pay less in the long run in unemployment benefits and will collect taxes on the wages of workers back at work. The economy, in theory, will benefit with more people back at work.


What do you think of the solutions in Task 3?

You have matched the problems and solutions. Now choose ONE of them and write 2 or 3 sentences to evaluate the solutions. Post your answers as comments below. 

You will see what your colleagues wrote after you post yourself. :)

Vocabulary for writing about problems and solutions

Question 1 (5 points)
These phrases are often used to speak about causes and consequences. They can be useful when you write about problems and solutions.

Match the words to their Russian translations.

Column A
	1.
	due to + noun:[image: image18.wmf]


	due to + noun
	

	2.
	as a result of:[image: image19.wmf]


	as a result of
	

	3.
	to be caused by smth:[image: image20.wmf]


	to be caused by smth
	

	4.
	to result in smth:[image: image21.wmf]


	to result in smth
	

	5.
	since:[image: image22.wmf]


	since
	

	6.
	to lead to smth:[image: image23.wmf]


	to lead to smth
	

	7.
	Thus,:[image: image24.wmf]


	Thus,
	

	8.
	One solution is to...:[image: image25.wmf]


	One solution is to...
	

	9.
	There are different approaches to dealing with this problem.:[image: image26.wmf]


	There are different approaches to dealing with this problem.
	

	10.
	For this reason, ...:[image: image27.wmf]


	For this reason, ...
	

	11.
	This means that ...:[image: image28.wmf]


	This means that ...
	

	12.
	Potentially, this can lead to / result in ...:[image: image29.wmf]


	Potentially, this can lead to / result in ...
	


	Column B

	a.стать причиной чего-то (привести к определённому результату)

	b.так как (ставится в начале предложения)

	c.в результате чего-то

	d.из-за чего-то

	e.Один из выходов состоит в том, чтобы...

	f.Существует несколько подходов к решению этой проблемы.

	g.быть вызванным чем-то

	h.Это означает, что...

	i.По этой причине

	j.Таким образом; следовательно

	k.Потенциально, это может привести к...

	l.привести к чему-то


Practice using vocabulary for problems and solutions

Question 1 (5 points)
This task is based on a paragraph from A. Wallwork's "English for Academic Research Writing Exercises, 2013:157.  It can be a good model for the writing task in this unit.

Aim: cut carbon emissions

Solution: Stop all impoirt of all fruit and vegetables from other countries.

Reducing carbon emissions is    a good aim, as is encouraging people to eat fruit and vegetables grown locally.   , if all imports of fruit and vegetables are banned, this will have two major  .    , some farmers in poorer countries will lose their sources of income.   , those countries that for climactic reasons can only grow very few fruit and vegetables, will find themselves on a limited and unhealthy diet of (for example) apples and potatoes. 
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Question 2 (6 points)
1.    the fact that schools get little funding, school libraries are rarely good. 

2. Weeks of research    in almost no extra insight into the problem.

3. The patient's strange behaviour was    by the medication the doctor was giving her.

4. Chidlren are more attracted to computers than to books.    solution to this problem is for parents to read to them.

5. Eating fast food invariably    to weight gain. 

6.    all the children had been vaccinated, the epidemics never occurred. 
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Module 2 FINAL TASK

Question 1 (100 points)
Please write a short Situation-Problem-Response-Evaluation text.

It can be

· about any problem that interests you professionally

· any current problem you hear about in the news (e.g. the migrant crisis in Europe or the financial crisis in Russia)

· a problem connected with teaching students at HSE

· students being late for classes

· plagiarism

· students missing lectures and seminars

· ... etc
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